Bridge Touchdown Table
Assembly Instructions

OMK_AI_BRG_A_03/2020



General Information

@

3 3 5 3

{ ]
S — — '
AIRIAN Rl

(s - : - — e
—= s J z ey = b = s =-,—_s/\
( o

°c° °o orm o E~=--N T {° ° °
00} oo o LU T ! ! ! WO e EE 66

N

®E ®@E®

—— — T
w

S T @EE OO

4

) §
15

1

|
@

_;v/ L ~ \w;.-
LL— . N
1. Table Top 7. Side Panel Cable Shield 13. Cam Lock Cover
2. Cam Bolt 8. Power Unit 14. M6 x 16mm Button Head Machine Screw
3. Wiring Loom 9. M6 x 20mm CSK Machine Screw 15. Adjustable Foot
4. Upper Cable Shield 10. Upper Inner Channel
5. Power Unit Lock Ring 11. Cable Clip

6. Side Panel 12. Cam Lock



Step 1: Attach adjustable feet to side panels

O1:100

« Screw in adjustable feet to bottom of side panel. Parts Required:
* Repeat on second side panel.

2 x Side Panel
4 x Adjustable Feet




Step 2: Mount upper inner channel

0o, 0\0 0/0 lo0
1] ~
L~ N
M6 x 20mm
« Drop inner channel onto side panels and screw into place using 20 x M6 x 20mm Parts Required:
CSK machine screws.

2 x Side Panels

1 x Upper Inner Channel Section
20 x M6 x 20mm CSK Machine Screws




Step 3: Insert cam lock

* Insert four cam locks into each side panel. Parts Required:

* Orientate cam lock so that the arrow points upwards.
8 x Cam Locks




Step 4: Insert cam bolts to table top

Ly

Screw 8 x cam bolts into the underside of the table top.

Parts Required:

1 x Table Top
8 x Cam Bolts




Step 5: Mount table top

| 1
= ==
" H P—
O O P
NI i I I 1l -
" LIRS

« Lower table top down with cam bolts locating into the holes on the top of each side panel.



Step 6: Tighten cam locks

@& & o 0 ® B
) @ O
[e] o
« To lock table top into place, twist cam lock clockwise using a 6mm allen key. Tools Required:

1 x 6mm Allen Key




Step 7: Cover cam locks

P

-
S
-
-

Fit plastic covers over the cam locks and click them into place. Parts Required:

8 x Plastic Cam Lock Covers




Step 8: Insert power units

» Unscrew loack rings from power units. Parts Required:
*  Drop power units into 80mm holes in table top.
» Screw lock rings to power units from the underside of the table top.

4 x Power Fixtures
4 x Power Unit Lock Rings

Note: Ensure that sockets are orientated in desired direction before tightening.




Step 9: Connect wiring loom

\\

« Connect wiring loom to power units using cable and connectors supplied.
« For more detailed information on your specific loom please contact OMK's
technical department at enquiries@omkdesign.com.




Step 10: Connect power cable to loom

« Connect power supply cable to wiring loom.
« Ensure that power supply cable is connected to the correct end of the table.

* For more detailed information on your specific loom please contact OMK's technical
department at enquiries@omkdesign.com.




Step 11: Attach cable clips

* Fix cable clips to bottom of inner channel using adhesive strip. Parts Required:

» Position wiring loom into the cable clips.
4 x Cable Clips




Step 12: Attach upper cable shield

L1 ~1 |

M6 x 16mm

« Attach the cable shield to underside of table top using 3 x M6 x16mm button Parts Required:

head machi :
ne screws. 1 x Upper Cable Shield

3 x M6 x 16mm Button Head Machine Screw

Note: Ensure that wiring loom is contained within cable shelid before fixing in place.




Step 13: Attach side panel cable shields

((j:(( '-~ , ,—‘ ))l))

| U N
Cutout
Run power supply cable down the central channel on side panel. Parts Required:
Locate the cable shields into position on central channel using slot and pin. 2 x Side panel Cable Shield
Lower cable sheild into position and attach using 2 x M6 x 16mm button head 4 x M6 x 16mm Button Head Machine Screw
machine screws per side.

Note: The cable exit cutout on the cable sheild should be adjacent to the floor.




Contact Us

Our head office is located in central
London where we manage global
sales, design & production.

OMK Design Ltd.
30 Gresse Street
London, W1T 1QR
United Kingdom

enquiries@omkdesign.com
+44 (0)207 631 1335

v XinJv_



